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QUESTION 1

How many SAPs can be configured on a port configured with dotlq encapsulation?
Al

B. 4095

C. None. This encapsulation is not supported.

D. The number is limited only by the capacity of the router

Correct Answer: B

QUESTION 2

On a Nokia 7750 SR, why must the MTU be explicitly set when configuring an IES spoke termination to a VPLS?
A. By default, a VPLS signals an MTU based on the network port.

B. By default, an IES sets its ip-mtu to the VC MTU of the VPLS.

C. By default, an IES uses an MTU value based on its SAP.

D. By default, an IES uses an MTU based on the network port.

Correct Answer: D

QUESTION 3

In a Layer 2 encapsulation using T-LDP, what does the first (top) label represent?
A. Tunnel Label

B. VC Label

C. Operational Control Word

D. UNI

E. NNI

Correct Answer: A

QUESTION 4

In a Layer 2 VPN service, the FCS is stripped when a customer packet arrives at the ingress PE and regenerated on
egress.
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A. TRUE
B. FALSE

Correct Answer: A

QUESTION 5

Which of the following SAPs will forward tagged frames with an outer VLAN tag of 200? (Choose three.)
A. sap 1/1/1

B. sap 1/1/1:*

C.sap 1/1/1:*.0

D. sap 1/1/1:0*

E. sap 1/1/1:200.*

F. sap 1/1/1:300:200

Correct Answer:. ABE
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